CooRD GEDMETRY — RATIO RORKMUULA — STPY

1. Find the distance between the points in each case below.

(a) (2,3)and (6,-4) ' (b) (-3, 4) and (3, -8)
(¢) (-5,-8)and (3, 5) (d) (-4,2)and (5, -2)
2. Find the gradient of the straj_ght line which passes through each of the following pairs of poi
(@ (1,2),,5) , ®) (-2,5,6,7)
(¢) (5,-4),(-8,6) (D B34, @, -D

3. Determine, by comparing gradients, if the points are collinear (i.e. lie on a same straight 111
in each of the following cases. ' &

(a) (Oa 1)7 (21 5)1 (_21 —3) (b) (17 2)5 (07 '—1)’ (—]-s —4)
© (3,4, (1,2),10,-3) (d) (-6,-4), (0, 2), (8, 10)
4. Find the coordinates of the point which divides AB in the ratio given in each of the follovs%
cases.- -
(a) A(2, 1) and B(10, 7) in the ratio 1 : 2,
EX7:' (b)" A(-3,2) and B(6, —4) in the ratio 2 : 3, ’
f_oaf 0] T (© A5 -8)and B(-1,7) in the ratio 2 : 5,

(d) A3, -2) and B(—4, 2) in the ratio -2 : 3,
(e) A(-3,-4) and B(2, 3) in the ratio 4 : —1.
5. Find the centroid of each of the following triangles ABC with vertices as follows.
(@ A, 1), B, 3), C2, 8)
(b) A(75 4)1 B(—39 1), C(lls _2)

© A3 3, BE6,-5), C4, -2)
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